the % 5 AE A B ol diste] Bca o AL mEw?

O A=(1,2,4), B=1{1,2,4,8)

@ A= {xxE= &), B={axe 5

® A=2, B={xxtx y z}

@ A= {xlx¥ 29 W5}, B = {xlxt= 62 i)

® A={x=2xn-1,n=1,23,---},B = {xlx= A4+



T A% A BolUstel A ¢ Bl B c Aotk HE
{x|x= 13ET 22 &5} 4 o, B o] Y29 A4=?

@ 2 @ 371 3 4 @ 571 3 6 7l



3.

AAHRE U = {a.b,c.d.e} o tstol An B
la,d},(AUB) = {e} 4 W, A- B E?

@ {a) @ {c} ® {a,d} @ {b,c)

® {b,e)



gt 7
94 =

73 A
T,

He e w), 24
' ol

A
R
£5e0) ¥
ol 4
oL

> ¢
7HA]



S 1) AKWANA LIS w25 4 1A G 1A
Anel 25 FolA e

D

Q

==L
|
|
(@)




TN
o
S &
Ol
5.0 OT
=T o
< A
~ I
S5
ol of
W R
T olJ
s
2N
3y
T
o
N % T
5 U o
- o
R° R <
K- N o
g oF
B oEn T

714

Ct-
=






)
x

ol
I

7h



@D p:ilal+1bl#0,q:a,bx= BT 0 o] ofrh

@ p:a®>+b>#0,g:a,b= 550 0] oYt}

® pia+b#0,q:a,b=RF0o] oflrh

@ p:a?+b*>+2)abl#0,q:a,bx 250 0] ofyrt,

® p:a®+b>+#0,q:ab= 2% 0 0] oflrct.



10.

L_

ohe 18l ol AFoh 4TS Sl 2. 2], Ak ATIES Qe
A2 977k Qa, AT LS ol AL 3747} ek, AFA
AARE 2} O AFR Bohe s A F @0 AN A
ThA] AU 9 9-0] 9

rl



11. offi& J2d3 2ol A oA B 2 7= A2 474, B oA € & 7h=
20 3712], A oA € & 7}= 2L 27}A] 0]t} A oA ¢ = FE35}
=l B & 3 {Tt A= W o] 8 Fotofet




12. Y AA P, O R SE dA5=Zo] o} 1

I8y
¥ ol AU 9 P ol s 2obe P2 a*s}%

T-stefet,




13.

1,2,3,4,5 o 987k 242F 49 5
_1

o:] Eﬂb]oﬂ 71—71—17H A >

Ak Oﬂ 1%11] ‘ff—‘: 75]—_?—4 _/’:

a %I-: 7]'11

NIHJ
iﬂ

W2 A ol Yk



14. A B, C, D473& AR AL 1), B C 7k o2 3to] Ak H90]
2 Fatolel.

s 714



15. @247, 424 382 dd & Ale o, oAz = o]

A A9 57

@D 720 @ 960 3) 1280 @ 1440

S317] ¢

3 1560



16. A, B, C, D, E9] 5712 &4} FolA 3715 Hol 4
AR AZehe A9 2

D 12 ® 14 3 18 @ 924



17.

‘korea’ ] BE B2 M A UtE &9 =

A0 M52 Fotofet

= A

Aol

rek



77

@ 12 3 14 @ 35 3 38

@D 7



ol

3uTh 22 30] v

@ {(x]2<x<5% %)

@ (x]|x

@ {x|2<x<5% AL
ST



FA=1{2,1,3,5 179 (1,3, 5)), B=1{2, 1, 3,5, 7, {1, 3, 5}

QD o¢A © 7cB
© {1, 3, 5)cB @ ({1, 3,5, 7, 9}eA
© AcCB




ol
RS
Ot

=
T =

2, g

z

A, B, C, D, E 2] ¥A7} 27]<}

et

21.

=l
AcC,BcC,CcE,DCE

=

Aol

al s

__OH
I
)

ol
e

ol
e
i
il o

ol

__0”D
KA
i

__OH_
e

® DccC©°l¥, BcDo|th
@ EcDOo|H,AcD o]t}



@O AnB+BNA
® AcBO|HANB=BRB

® Ac(ANB)c(AUB)

@ AcBO|HAUB=A

@ n(AnNBN®)=0



23.

FATA BHRSG ES W, XNnA =X, XU(ANB) =XE
Tk %‘ﬂ% X o] 47

= {x|x= 5 olste] A=), B=1{3, 5, 7}

@D 27§ @ 47§ ® 674 @ 87§ ® 1078



24.

AT A=1(3,a+1,9), B=
1w, q 2] 3t F-otei=t.

{a=1,a,a+3)°] 5l A-B =

{5,9



25. A4 n o o] w9 S A, ol & i, oS <E 7> oA
S AE BE 1E A7 (B, mon 2 A4A5)
[a]
7]
Q@ AsNA, =0

© A4UAg = Ay
@ m, Ylo] Ajiiio]?j Am ﬁAn :Amn

@ m=kn(ke ¥ A=) °1H A, c A,

®®7®7@ ®®7© ®®)©7@
® O, ©, e ® © 6



{xeM‘
14, 4, °

S

Ton

2]

2

1ol Aas | etn 4

20

o, 73

ol
S

— R

x—[x] =

—r

Na71 302

4o}

® 15 3 17 @ 19 B 21

@D 13



PAof| A= AFEES @A JATS Eeka, QA Abs AFEES
QA AZRRE Wt} o] & o rRE 2 Al A A, B, C7F .
A, B t=3 2ol 23t

A: $EE BT QAN gtk B $EE F @ §F AR o]
Pl A St

A, B, Ce A7 o= o2 RH =71

@ A,BEPA, CE QA it
@ A,BE QA, CE QoA gttt
® A,B,Ct BF QAllA sttt

@ BEPA, A CEQAANA gt
® BXQA, A, CEPAYA It



28.

L OTHAE) = g fon () =

X—i-l
yom Ao w, py (1) € gt

1
O = 24 0

(f1

o f) (x) (n=1,2,3,



~

(%) 8(x). h(x) 7k (fog)(x) = 2x=3.h(x) = 2x+1 &

(Rt og o f71) (3) o 27

® -1 3 0 @ 1 B 2



5t

agzme] = Wy Aol o] A2l E

_04

eFy = g(x)

® 2

@ 2

31

@ -2



31. |x|+lyl=29 J8Z2 Suel =9 Hol&?

@D 2 ® 4 3 6 @ 8 ® 10



32.

T fx) =l x=11+x=2]++ | x—2009 | =
&S 7. olu, a o gh2?

@ 1001 @ 1002 3 1003 @ 1004

x = a A

3 1005



33.

a : b=c :

d¥ o, [H7]] § &2 A& 25 I1E FAL2? (
abed #0, b+2d #0, a—2b#0, c—3d# 0°]t}.)
(1]
7]
a b a a+ 2c
9=y © b
a—+2b c+3d
© a-2b ¢-3d
ONQ) @ © ® 9,0
® ©, ©

@ @7 @)@



